| Efficiency vs Dxy |
> 05

dx

S
©
I
)]
[

......................................................................

o
N
|

e T e e

efficiency v

o
[
[

ozt
e
T

o
o8l

Ratio

5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

0.5 —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

7P SN N W S S —
O
RS SN NS S S —
o : : : :
e e e
T R | ———
NS S LA T———

dz

fficiency

T RN N S T
| e
s s e

Ratio

----------------------------------

TP dz (cm)



	Contents
	Page 1


